Matrices

A matrix is just a rectangular grid of numbers.

Here are some examples:
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"Matrices" is the plural of "matrix."




We'll need some terminology...
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These are the entries.
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These are the columns
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has 2 rows and 3 columns.

We call this a 2x3 matrix



Sometimes, we'll need to refer to a specific entry, so we have a
special "tagging" system. It's based on rows and columns:
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J\ isx\e entry in the ' th row and the J th column.
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For example:
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Adding and subtracting matrices is really easy but,
you can onlv do it if thev are the same size!
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We just add the entries in each spot..
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Scalar Multiplication

First, it would be nice to know what a scalar is!

Don't worry -- it's easy...

2
A scalar is just a number like 3 or -9 or 7 or .4

Suppose we have:
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and we need to find 2A... (2 times A)
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You just multiply each entry by 2.

2A = 2
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Multiplying Matrices

When multiplying, the size of the matrix really matters:

The number of columns in the first matrix must equal the
number of rows in the second matrix if you want to
multiply them

If the size of matrix Aism X n —

and the size of matrix B is n X p,
then

These must match.
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mxn « nxp

\/

The answer is size M x p.
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Let's find 2 ® A :
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YOUR TURN:
RIS
Find A*® AND B« A
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Find 2A + BC + 3BA

*hint: Do the matrix multiplications first,
then put everything together slowly.




2A+ BC +3BA =

00 245
85 -209



